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Section I — Listening

30 marks
Attempt Questions 1-11
This section should take approximately 40 minutes

You will hear ELEVEN texts. Each text will be read twice. The question for each text will be
read once before the first reading of the text. There will be a pause after the first reading in
which you may make notes. However, you may make notes at any time. You will be given
adequate time after the second reading to complete your answer. Answer the questions
in ENGLISH in the spaces provided. These spaces provide guidance for the expected length of
response. In the case of multiple-choice questions, tick the box that corresponds to the correct
response. You may proceed to Section II as soon as you have finished Question 11.

Question 1 (2 marks) Candidate’s
Notes
What do Masako and Yoshio both enjoy doing? 2 )
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Question 2 (2 marks)
What are Yukiko and her father talking about? 2 ok
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Question 3 (1 mark)
Where does this conversation take place? 1

(A) A graduation party

(B) A New Year’s Day party
(C) A wedding

(D) A birthday party
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Question 4 (2 marks)

Fill in the table. 2
Name: Tanaka
Date: Ton ‘\S"‘*
Time: =20

Number of People: D)

Phone Number: 71%05%6>

Question 5 (2 marks)

Why did Mr Honda leave this messagfp“fm . @Cuzw s People., 2
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Question 6 (2 marks)
Who would be interested in joining the school band? 2
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Question 7 (3 marks)

Why was Alice disappointed?
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Question 8 (3 marks)

Why is this a difficult situation for the man?
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Question 9 (4 marks)

Why is Yasushi’s mother shocked?
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Question 10 (4 marks)

Why do they decide to have a BBQ party? M
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Question 11 (5 marks)

Would Yamamoto make a good doctor? Justify your response.
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You may now proceed to Section II
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